Chapter 9: homework 2 Reaction Stoichiometry
Directions: write your answers on a separate piece of paper; show all your work for any credit!!

Using this as your template, write the relationships in the following reactions:


3H2  + N2  →  2NH3
“three moles of hydrogen react with one mole of nitrogen to produce 2 moles of ammonia”

“three moles of hydrogen are needed to react fully with one mole of nitrogen”

“when two moles of nitrogen reacts fully with hydrogen, four moles of ammonia are produced”

Part I: Understanding the coefficients communicate the required ratios for the reaction to take place 

2H2O →  2H2  + O2
1. If one mole of oxygen is produced, ____ moles of water were needed

2. If 2 moles of hydrogen were created, then ___ mole of oxygen was also created

3. If 4 moles of water decompose ___ moles of hydrogen and ___ moles of oxygen are produced

C3H8  +  5O2   →  3CO2  +  4H2O

4. If one mole of propane (C3H8) fully combusts, ____ moles of carbon dioxide are formed

5. If 8 moles of water form, _____ moles of carbon dioxide also formed

6. 3 moles of propane will react fully with ____ moles of oxygen producing ____ moles of carbon dioxide and ___ moles of water

7. If one mole of oxygen were available ___ moles of propane would combust
Part II: mathematically demonstrating this understanding using factor label method
2KClO3  →  2KCl  + 3O2
8. how many moles of oxygen are produced when 3.8 moles of potassium chlorate decompose?

9. how many moles of oxygen are formed when 5.6 moles of potassium chloride are formed?

3F2  + 2Al  →  2AlF3
10. 8.9 moles of aluminum react fully with how many moles of fluorine?

11.  if 2.1 x 10-2 moles of aluminum fluoride were formed, how many moles of fluorine gas were required?
